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BB F D &R
gt #F4 PilE] =X Ist 2nd 5+6 6
1 fERAKE— HTE ™ 275 144 131 21 1
2 =R % ETE ™ 275 143 132 19 6
3 HE ER ETE ™ 214 141 133 20 1
4 = EAE] BN 267 142 125 19 5
5 B X Figmh 265 1317 128 20 5
6 rIl FHE HTE ™ 256 129 1217 15 8
1  H# £#1F ETE ™ 250 121 129 17 4
8 TE R ETE ™ 243 110 133 15 )
9 = RA ETE ™ 242 120 122 16 1
10 BIF ¥7 ETE ™ 242 113 129 14 5
1 &K A AR 241 116 125 16 6
12 #&HF F— B&RRX 238 124 114 14 4
13 KiF i B&RR 225 120 105 14 4
14 ETF i3 BREX 213 107 106 11 4
15 /R - ETE ™ 206 95 111 9 4
16 JIF =B BikR 204 111 93 11 4
17 BX # BN 184 97 817 10 4
18 MzRiEx ETE ™ 172 80 92 1 2
19 &R 1E BERR 101 52 49 4 2
BB F D &R
It #F4 FilE] &t Ist 2nd 5+6
1 hE WF ETE ™ 228 111 117 11
2 EEE fEx BN 189 88 101 9
RCEFDER
It #F4 FilE] &5 Ist 2nd 5+6 6
1 JafE—a HEX 310 153 157 2] 9
2 B ME KERX 281 148 133 19 5
3 LtH B BN 269 131 138 21 8
4 EF MR AR 257 123 134 17 6
5 #Bi5 A BN 255 116 139 18 5
6 FRE HiE INEFHT 230 110 120 10 4
17  #®Oo X#F FRE ™ 207 122 85 10 4
8 i fi iR 203 95 108 10 2
9 B #H RX 190 93 97 1 3
10 = g it 136 90 96 5 1
" 5 =# INEFTH 167 83 84 8 2
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IR EF A ATig = Ist 2nd 5+6 6
1 HENAEY ETE ™ 281 142 139 21 8
2 EARHLELF PERIR™ 271 142 129 17 4
3 TFTHBTAHF INEFTH 250 1217 123 16 7
4 hoik v INEFHT 237 106 131 11 3
5 EX HF BikR 203 100 103 10 2
6 it &F BikR 161 74 87 4 1
CP5F D ER
B EFH g = Ist 2nd 5+6 6
1 fEB EN B 379 192 187 59 33
2 THEAR BEIE 374 186 188 53 33
3  KiE B EN] 368 181 187 52 29
4 HE—_-= HIFIR 347 174 173 47 20
5 FHHkBHs HIEIR 345 165 180 43 21
6 BN EE SEM 339 171 168 41 20
1T Xl FE Figmh 331 159 172 35 17
8 BN &BH INEFTH 318 161 157 217 7
CPZ& F D &R
IR EF A ATig = Ist 2nd 5+6 6
1 IVRRREF AR 363 181 182 51 25
2 REHMZFEF wEIE 340 173 167 42 19

TRH26FEE2RERA I —ILFREBER

2/2



